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Absolute Value Day 2 Vocabulary Review
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What is always the domain of an 0= A
absolute value function? D (00,2
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What kind of transformations
change the range?
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Find where we are increasing and decreasing
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Find x & y intercepts
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make a conjecture about what effects the x-intercepts

Find x & y intercepts
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make a conjecture about what effects the y-intercepts

How many y-intercepts can we
have?

How many x-intercepts can we
have?

Solving an Absolute Value
|x|=3

What are the possible values x can be?
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Solve the Ab§oluTe Values

Finding %<\ &y intercepts algebraically.
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